1.

2.

IV' CAREERINDIA

PAPER-III
COMMERCE
Signature and Name of Invigilator
(Signature) OMR Sheet NO. : .iiieiieeeiiiiiecceee e
(Name) (To be filled by the Candidate)
(Signature) Roll No. I | I I I I I I l
(Name) (In figures as per admission card)
Roll No.

B0 SE

Time :

4

2 '/, hours]

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 75

PN

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example :
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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COMMERCE

Paper - 111

All questions are compulsory.

The Competition Act, 2002, seeks to
regulate

(A) Anti-competitive agreements
(B) Mergers and amalgamation

(C) Unfair trade practices

(D) (A) and (B) above

Indicate the true statement :

(A) Large industrial houses are
outside the purriew of the
Competition Act, 2002

(B) There is no provision for
curbing frivolous complaints
under the CPA.

(C) The Trade Marks Act, 1999
does not apply to services.

(D) All of the above are true.

The time limit for filing a complaints
before the District forum under the
Consumer Protection Act, 1986 is
(A) one year

(B) two years

(C) three years

(D) There is no such time limit.

The Foreign Investment Promotion
Board (FIPB) revamps the rules and
regulations pertaining to

(A) Accounting of Foreign Investment
(B) Investment by NRIs

(C) Foreign investments

(D) All of the above

Which of the legislation(s) do (does)

not form part of the legal

environment of business in India ?

(A) The Drugs and Cosmetics Act,
1940

(B) The Prevention of Food
Adulteration Act, 1954

(C) The Monopolies and Restrictive
Trade Practices Act, 1969

(D) Both (B) and (C) above
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Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

What is the underlying concept that
support the immediate recognition of
an estimated loss ?

(A) Substance over form

(B) Consistency

(C) Matching

(D) Prudence

Which is not the limitation of

budgetary control ?

(A) Budgets are based on forecasts
which may not be true

(B) Installation and operation of a
system of budgetary control is
costly.

(C) Budget is a tool of management
and not a substitute of
management

(D) Budgets do not pinpoint the
lack of efficiency or the
presence of it.

Profit volume ratio of an enterprise is
40%. To offset 10% decrease in
selling price, how much sales must
be increased ?
(A) 10%
©) 25%

(B) 20%
(D) 40%

If debt is ¥ 220, cash balance is ¥ 20
and equity is ¥ 300, then the gearing
ratio is

(A) 20%
©) 50%

B) 40%
(D) 30%

Responsibility accounting aims to

(A) ensure that a manager is
punished if things go wrong.

(B) ensure that costs become the
responsibility of a specific
manager.

(C) allocate costs to all areas of a
business.

(D) reduce the costs that a
department incurs.
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12.

Find the correct matching of the
items of List — I with the items of
List — II given below :

List -1 List - II
(a) Normal (I) Excess of
Profit total revenue

over total
explicit cost
(b) Economic (II) Total
profit revenue
equals total
economic
cost
(IIT) Excess  of
total revenue
over total of
explicit and
implicit
costs and a
normal rate
of return

(c) Accounting
profit

Codes :

(H dn ()
A) © (@ (b
B) () (@ (©
© @ @b (©
D) (@ () (b)

Assertion (A) : A monopoly firm’s
revenue curve is downward
sloping from left to right.

Reason (R) : The monopoly firm
does not simultaneously enjoy
the freedom to determine both
price and quantity to be sold
according to its whims and
fancy.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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The equilibrium level of output for a
perfect competitive firm is given by
the point where :

(A) MR =MC
(B) MR <MC
(C©) MR>MC
(D) MR = MC, and MC starts
rising.
Match the following :
List -1 List - II
(i) Dumping (a) Monopolistic
competitive
firm
(i1) Kinked (b) Oligopoly
Revenue firm

Curve

(iii) Horizontal (c) Perfectively

straight line competitive
revenue curve firm

(iv) Large number (d) Discrimin-
of buyers and atory
sellers  with monopoly
differentiated
products

Codes :

@® () (@i @Qv)
A @ (@ (© O
B) () @ (@ (©
© @ b © (@
D) @ ® (© @

Penetrating pricing
appropriate when

strategy  is

(A) price elasticity of demand in
the market is highly inelastic.

(B) price elasticity of demand in
the market is uncertain.

(C) price elasticity of demand in
the market is highly elastic.

(D) income elasticity of demand in
the market is negatively elastic.
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19.

Assertion (A) : The expected values
should be atleast 5 to apply the
chi-square test.

Reason (R) : The chi-square
distribution provides an
adequate approximation of the
sampling distribution.

Indicate the correct answer from the

following :

Codes :

(A) Both (A) and (R) are true, and
(R) is the right explanation.

(B) Both (A) and (R) are true, but (R)
is not the correct explanation.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

In a decision problem having four
possible alternative decisions and six
possible states of nature, the pay-off
table will include

(A) Four payoffs

(B) Six payoffs

(C) Twenty four payoff

(D) Ten payoff

The mathematical formula for joint
probabilities P(AB) = P(A/B) x P(B),
holds when

(A) The events are statistically
independent.

(B) The events are statistically
dependent.

(C) The event is either independent
or dependent.
(D) None of the above

Which one of the following

statements is the correct

interpretation of P-value of less than

0.01 in hypothesis testing ?

(A) There is overwhelming
evidence to infer that the
alternative hypothesis is true.

(B) There is strong evidence to
infer that the alternative
hypothesis is true.

(C) There is weak evidence to
indicate that the alternative
hypothesis is true.

(D) There is no evidence to infer that
the alternative hypothesis is true.

Paper-111
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20. Two lists of items are given below :

List -1 List - II

(i) Charles (a) Mossai
Babbage

(ii) Herbert A. (b) HTML
Simon

(iii) Tim (c) Computer
Berners Design
Lee

(iv) Maarc (d) Decision
Andreessen model

Which one of the following is the
correct match ?
Codes :

@® () (@) @Qv)
A (© @ @ @
B) @ (© @ (®b)
<G b @ (@© @
D) © @ b @

Which of the following statements
are true about informal organization ?
1. It arises spontaneously.

2. It reflects individual and group

goals.

3. It tends to be permanent and
stable.

4, It tends to be small and
manageable.

5. Its basic purpose is to improve
human relations.

6.  Its basic purpose is to achieve
organisation’s goals.

Codes :

(A) 1,2,3and 5

(B) 1,2,4and 6

(C) 1,2,4and 5

D) 2,3,5and 6
J-08-14
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23.

24.

Which of the following is not true
about an employee-centered leader as
identified by Michigan researchers ?

(A) Treats subordinates as human
beings.

(B) Shows concern for their well
being.

(C) Focuses on work standards and
close supervision.

(D) Encourages and involves them
in goal setting.

Talcott
organizations can be
primarily into four categories, based
on functions. Which of the following
is not an organization in Parson’s
scheme ?

Parson,
classified

According to

(A) Political organisations
(B) Integrative organisations

(C) Pattern
organisations

maintenance

(D) Commercial organisations

An MBO programme
involves the following steps :

usually

1 Establishing unit’s objectives

2 Establishing organisational goals
3. Negotiating or agreeing

4 Reviewing the performance

5 Creating action plans

Indicate the correct sequence of the
above steps from the following codes :

(A 1,2,3,4,5
B) 2,1,3,5,4
© 2,3,1,4,5
(D) 5,4,3,2,1

Paper-111
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Match the following :
List -1 List — II
(a) Fayol (1) Economy and
Society
(b) Taylor (2) General and
Industrial
Administration
(c) Weber (3) Principles of
Organization
(d) Mooney (4) Shop
and Reilly Management
Codes :

(@ () (¢ (@
@A 3 @ @O @
B @ @ @O 3
o @O G @ &4
@ @ G @ @

A primary group influencing the
buyer behaviour is a

(A) Family

(B) Professional association

(C) Religious group

(D) Trade Union

After conducting the business

analysis for developing a new
product, a company must do

(A) Idea generation

(B) Product positioning

(C) Product

testing

development  and

(D) Test marketing
J-08-14
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24.

Tafer snyepaTel I FHARI-hiwd =T

% TN T fHY I TEl AT e 2

(A) IEFET % HY AHAE FaER
FAE |

(B) 3h TEaemy & T TR g9
g

(C) & & A Td ged R T
HHT AT |

(D) = WoEed oal € 3R o
famo 4 3% Wit Rt e |

RIS U & STIER, TSl &l it
% YR 9T =X W H omiiha [ ST
e & | Frefeiiad | 9 9 a1 g
TG i @hiH | Tol ¢ ?

(A) TSI ST

(B) HHTHCHIHS Tl

(C) U TRRAT Wil
(D) dfoTroes T

TAALT. HEHH &k T GEETET

FrTeREd | S €

(1) T & 39T T LA
(2) TSTCHE ALl Y T
(3) THSIT A W

(4) TSI T gARrEErsR
(5) I ASHIST H G
frfafad el ¥ Sude Q=T & Tl
Waﬁﬁ

(A 1,2,3,4,5

B) 2.1,3,5,4

©) 2,3,1,4,5

D) 5,4,3,2,1
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@@ (b) (© (@
@ 3 @ GO @
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O @ G @ @O
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(D) R¥EoT foque
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29.

30.

Match the items in List — I with those
in List —1II :

List -1 List — IT
(a) Post (i) AIDA
purchase
behaviour
(b) Personal (i1) ACMEE
selling
(c) Everitt M. (iii) Diffusion of
Rogers Innovation
(d) Salesperson  (iv) Cognitive
training dissonance

Indicate the correct matching :
Codes :

@@ (b)) (© @
A) @ @) > (Gv)
(B) @Gv) @G @) (@)
©) Gi) @Gy @ @v)
D) Gv) @ a) (i)

Which type of retail stores generally
has the highest operating costs ?

(A) Department store

(B) Supermarket

(C) Chain store

(D) Co-operative Store

Indicate the correct statement :

(A) India has been a pioneer in
social marketing.

(B) Advertising Standards Council
of India is a statutory body set
up by the government of India.

(C) Both (A) and (B) are incorrect.

(D) Both (A) and (B) are correct.

Paper-111
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Match the items of List — I with the
items of List — II :

List -1 List — IT
(a) Trade credit (i) Maturity
and other Financing

payables that
arise in the
firm’s day
today
operations

(b) Financing and
asset  needs
over time

(c) A tool for
accelerating
the collection
from the
customers

(d) Seeking
financial
service to
finance on its
debtors’
balances

Codes :

@ @ @© @
(A) @(v) (@) G) @)
B) i) @) @Gv) @)
© ) @Gv) @ (i)
D) @ @) @) (@Gv)

(i1) Factoring

(ii1) Spontaneous
financing

(iv) Lockbox
system

Indicate the cost of equity capital,
based on capital asset pricing model,
with the following information :

Beta coefficient — 1.40
Risk-free rate of interest — 9%

Expected Rate of Return on
equity in the market — 16%

(A) 9.8% B) 18%
(©) 18.8% (D) 16%
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29.

30.

T -1 = - 11
(a) ST @I R (i) AIDA
(b) SAFKT foshl (i) ACMEE

(c) TR TH. USTE  (jii) Tomiac &1 TER
(d) Torshelm =1 SRTeAoT (jy ) WeTHIee STt
&I ST AT

T

(=N

(@ () (© @
A) O Gy 3> @Gv)
(B) @Gv) @G @>) (@)
©) @) G) @ (@Gv)
D) Gv) @O @) ()

{9 THR @ FeH FHAT H HECH
AT W I Bl § 2

(A) fTeurde =R
(B) W AP
(C) TAER

(D) wIAWRT ©R

Hel he ey :

(A) HHEIST [qUH § 9T 3000 @ e |
(B) ¥R fosu= A URog R i
WHR g0 wfua fear
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(A) 3T (B) T W& & |

©)
(D)
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(b) THEAOR famawe (i) RN
SMATTHAL ()
(c) T | P A (iii) TeT
TG I @R ferrareoT
T T TR

(d) 3T HE H I (jy) ATweTR
9T T Tarargor LISl
FH & [ foxia
e Tl AT AT

T4

(@ () (© (@
A) Gv) @) @) @)
B) @) Gi) Gv) (@)
© Gy Gv) @O (i)
D) ® @G @) (@Gv)

fr=fefad gamr & 9 ISinTd aRewfa
Hiae FHRT qieet (CAPM) T e
Tt STt St AT ST

dier (B) TToTE = 1.40

STifad et =17 o <X — 9%

TSR 2ot

fqweT i 31T 3T — 16%
(A) 9.8% (B)
(C) 18.8% (D)

18%
16%
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33.

34.

35.

The degree of super-leverage would

be calculated by :

(A) Adding DOL (Degree of
Operating Leverage) and DFL
(Degree of Financial Leverage)

(B) Dividing DOL with DFL

(C) Multiplying DOL and DFL

(D) Subtracting DOL from DFL

Interim cash inflows are reinvested at
a rate of return equal to the internal
the built-in-

rate of return is

mechanism for

(A) Net Present Value Method

(B) Internal Rate of Return Method
(C) Profitability Index Method

(D) None of the above

Who formulated the following model
for estimating the market price of
equity share ?

Ra
D+5° (E-D)
RC

P= R

C

Where, P = Market price of equity share

D =DPS

E =EPS

E —D = Retained eaming per
share

R, = Internal rate of return on

investment
R_ = Cost of capital
(A) Modigliani-Miller
(B) Myron-Gordon
(C) James E. Walter
(D) Clarkson and Elliot

Paper-111
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36.

37.

IV' CAREERINDIA

Indicate the quantitative methods of

job evaluation

(A) Ranking methods
comparison method

and Job

(B) Point rating method and Factor
comparison method

(C) Grading method
classification method

and Job

(D) Factor comparison method and
Ranking method

Match the items of List — I with those
List—1I:

List -1 List — IT
(1) Career (a) The process
goals where in an
executive
serves as a
guide

(2) Career (b) The future
positions one
strives to reach

path

as part of
career
(3) Career (c) The sequential
pattern of jobs
that form a

counseling

career

(4) Mentoring (d) Guiding
people on their
possible career
path

Codes :
H @ & @
@A) d) (© @ (@
B @ ® @© @
© @ © O (@
D © b @ @
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33.

34.

35.

YU-AGST Hl Hife H AROAT fomaeh
FIRT i ST 2

(A) WA WS Hiie (DOL) T
forita wffenst ife (DFL) & Siig
sHT

DOL =t DFL & 1 9T &1
DOL ! DFL ¥ T[T &%
DOL %! DFL 9 =21 e

(B)
©)
(D)

3ANT kg IVETE I UdHA Dl
Re® & & R Uawel T I
e fFar ST & df 9% Thas ol
Famted fsratfafy € 2

(A) Tae adaE 9o ugia

(B) ufd®eT =l Tie <X Ugid

(C) AT Gahich TG

(D) 3Uge § F g Tl

T Y F AR oA T SR
wH & o fFEfatea dea feem
giquiied feam & 2

Ra
D+% (E-D)
C

R

C

STt : P = 3l 371 N AR T

D= ldiua.

E=zdua.

E — D = ufq 3791 e sur
R, = F1el*1 TR Afawel &1 =i 5T
R, =TT =l AT
At — frer

A — MeH

ST T, et

(A)
(B)
©)
(D)

FATHET TS 3(TI
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36.

37.

IV' CAREERINDIA

T Tedieh i T UGt adred
(A) SofeRTor TEiaEt Te S o TSt

(B) 3 FuRor ugfd wd #RE ol
RCL]

(C) T TU UFid e A ST
LEAT|

(D) R T T TS SoiieRor ugha

T — 1 Gat — 11 3 |1 gafed &

e -1 = - 11
(1) R A (a) T UTHAT STt
FEITAS ANGIE &
O H B AT |
(2) A AW (b) el ug (Rl st
AT FRE o & &
B U TgE Bl T
HATE |
(3) I (c) AT H STIHHS e
Hadl Holle S I SAMT ¢ |
(4)TWRRE () SN B S ST
HRIAT T W HAE T |
YA

- 2 6 @
@A b © @ (@
B) (@ ® (© @
<G @ © b @

M © b @ @
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38.

39.

40.

41.

The process of receiving and
welcoming an employee when he
first joins a company and giving him
the basic information he needs to
settle down quickly and happily and
starts working, is referred to as

(A) Placement

(B) Orientation

(C) Job Rotation

(D) Counseling

Which is not relevant of succession

planning ?
(A) Analysis of the demand for
managers

(B) Review of existing executives

(C) Planning individuals career
paths

(D) Recruitment to meet immediate
needs

Where does recognition of an

Employee fall in Maslow’s hierarchy
of needs theory ?

(A) Self-actualisation
(B) Security needs
(C) Social needs

(D) Esteem needs

The profitability of public-sector
banks is low due to

(i)  Over-cautions
lending

approach to

(i1)) Reserve Bank Policies
(ii1)) High Overhead Costs
(iv) Social-sector lending
Identify the correct code :
Codes :

(A) () and (ii)

(B) (i) and (iv)

(©) (), (i) and (iv)

(D) (i) and (iii)

Paper-111
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42.

43.

44.

IV' CAREERINDIA

Match the items of List — I with those
List — IT and select correct answer :

List -1 List - 11
(1) Narasimham (a) Lending under
Committee consortium
arrangement
(2) Shetty (b) Frauds and
Committee Malpractices in
banks
(3) Ghosh (c) Securities
Committee operations of
banks and
financial
institutions

(4) Janakiraman
Committee

Codes :

@ ® @© @
A 3 @ @ @)
B 2 G @ @
o @ @ 3 @
O 3 @ @O @

(d) Financial system
in India

Which of the following financial

institutions is not with in the

supervisory Purview of Reserve

Bank of India ?

(A) Foreign Commercial
Operating in India

(B) Regional Rural Banks

(C) Mutual Funds

(D) State Co-operative Banks

Banks

The Repo and Reserve Repo rates are
resorted to by the RBI as a tool of

(A) Credit Control

(B) Settlement Systems
(C) Currency Management
(D) Liquidity Control
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38.

39.

40.

41.

FHAR] S FHOAT H YW I A € a
ST WA R 31T 3T Jotgd STHHRI,
3T P URET W I & o =fed gt
T, 2 & Ul R SRl ¢ 2

(A) &

(B) NIRRT

(C) HE-TREHAT

(D) TEITe/aIHeT 3T

SAATHHR & o2t FaIsH &g 1 Wi

T E?

(A) VEH & T BT T favetyor

(B) fommm shruretent T graeTor

(C) =AfRTd HRaT 92t 1 FaeT

(D) dTchIeTh  STEvIHaret & T
F & [ 9t

AT & Mevgshdl sk g o

HHART T AT TR

Ffefeaa 5 9 fead
AT & 2

(A) TR

(B) G STEwaHAL
(C) WM SATTHATL
(D) TfaTaT i ST

HresTi-eh &5 & §ehl Sl ATHSIAT [hH
RO HH & 2

(i) YR I 1 AT FAFHRI SUNH
(i) Rea o Afet

(i) 3=9 SN AT

(iv) STHISTh-81 i 0T

TEl ST T

&<
(A)
(B)
©)
(D)

(i) 3 (ii)

(i) 3T (iv)

@), (iii) 3 (iv)
(ii) 3T (iii)

J-08-14
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42,

43.

44.

&AREEHINHIA

T — [ 5 7l 6 g - 11 H A&l % 9
AT W

e -1 e - 11
(1) RGeq QEld () T G
T &
I YR &7
() vA AT (b) T H € T
FHEEN
(3) A EEa  (c) o U foE
TS Y G
AT
(4) STHHERT  (d) R & o<
[mfd 2ero)f
A

(@ (b)) (© (@
@ 3 @ o O
B 2@ G @ @O
e @ O & M)
O G @ @O @

ffefea & 4 =9 @ foam g

qRAT [Ste a6 & Heonens dies

o e g ?

(A) 9RG ¥ uienferd fesei snforfsees
EED

(B) &HF TrHoT Sk

(C) HHHA hed

(D) T TEHN qh

O 1e 9 & g 3O we e |
W H YA THEE TN F 'Y o
frar ST € 2

(A) T FFF=T
(B) Feewt usfa
(C) & va
(D) oAt =T
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45.

46.

47.

Which one of the following
institutions is promoted by the IFCI :

(A) Credit Analysis and Research
Ltd (CARE)

(B) Rashtriya Gramin Vikas Nidhi
(RGVN)

(C) Clearing Corporation of India
Ltd (CCIL)

(D) Small Industries Development
Bank of India (SIDBI)

Indicate the right sequence of the

stages of internationalization :
(i) Multinational Company
(ii)) Global Company

(iii)) Transnational Company
(iv) International Company
Codes :

A) @ aGv) @) (i)
B) Gv) @O aGi) (i)
© @@ Gv) @) (i)
D) Gv) @O @) (i)

Which of the following is not one of
the components of ‘International

Reserve’ ?

(A) Special Drawing Rights
(B) Reserve Position in IMF
(C) Monetary Gold

(D) Money Market Instruments

Paper-111
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48.

49.

50.

IV' CAREERINDIA

Match the items given in List — I with
the most appropriate items in List — 11 :

List -1 List - 11

(a) UNCTAD (i) Foreign
investment

(b) WTO (ii) Developing
Countries

(c) TRIMS (iii) UNDP

(d) ITC (iv) General
Council

Codes :

(@ (b)) (© (@
(A) (1) @Gv) @) (i)
B) @) (@Gv) @@ (i)
©) Gv) @G @ (i)
D) @) () @ (@Gv)

Duty levied on the value of goods
imported is referred to as

(A) Ad valorem Duty
(B) Compound Duty
(C) Specific Duty
(D) Import Duty

Which of the following can be
included in the current account of the
balance of payments ?

(i)  Purchase of goods from abroad
(i1) Sale of services abroad

(iii) Workers’ remittances from
aboard

(iv) Sale of copyright to foreigners

(v) Direct investment in equity
capital

Codes :
(A) (1), (ii) and (iii)
B) (i), (ii) and (iv)
(©) (), (i1), (iii) and (v)
(D) (1), (i1), (iii) and (iv)
J-08-14



45.

46.

47.

ffafea O ¥ f6g 9= & [FCI 170
yatad foRar ST € 2

(A) Fo1 foveigor ug Wy fares
(CARE)

(B) rgig wimeior faehr At (RGVN)

(C) 9rdm www  fm  fefes
(CCIL)

(D) 9RdE @Y SEN fae 9%
(SIDBI)

SRIETHIOT T RS T Tl HH
W:

(i) TEULT FEAT (i) Sfvah HEE
(i) TR BT (iv) TG HEE

T

(A) O av) (@) (i)
B) Gv) @ 3> (D)
© O av) (i) (D)
D) Gv) @O ) (i)

FeAfefEd | & ST TR Rad &5
TEeH Tl & 2

(A) TR 370 STaer

(B) MU, H URfea-ffy =t feafa
(C) Hifes @

(D) TS ISR & faux
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48.

49.

50.

IV' CAREERINDIA

gt — [ ¥ wei B g — 11 H S #ei o
e -1 e - 11
(a) UNCTAD (i) forsl Few
(b) WTO (i) Toreraemet 391
(c) TRIMS (iii) UNDP
(d) ITC (iv) TeT uRes
E T4
(@ () (© (@
(A) () Gv) @) (i)
(B) (i) Gv) @) (i)
© @Gv) Gi) @) (i)
(D) (i) i) @) (@v)

AT S % Hed W Ol T
9[edh R SR € 2

(A) 3 qod Yok

(B) T Yok

(C) TaRTe o

(D) 31T Ih

frefafea o=t # 9, 69 7% ® =R
HeH & 9] @i H gHiee feRar S
TRl & 2

() fo=er 9 axget & =i

(i) facwr & Qarewt =i fasnr

(i) Taer ¥ HHTR H IS T

(iv) fo=fert =t Siee = fash!

) W‘Fﬁﬁﬁﬁﬁaﬂ

T4

(A)
B)
©)
D)

), (i) 3T (iii)
), (i) #T (iv)
), (i), (i) W (v)
), (i), (i) W (iv)

—

—

—

—
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S1.

52,

53.

54.

Which of the following items would

be specifically included in the

statement of cash flows constructed

in compliance with AS-3 ?

(A) Conversion of debt to equity

(B) Acquiring an asset through
lease

(C) Operating and non-operating
cash flow information

(D) Purchasing a building by
giving a mortgage to the seller

Fixing the value of an employee

depending upon his productivity,

promotability, transferability and

retainability is the core of the

(A) Certainty equivalent model

(B) Stochastic Reward Valuation
model

(C) Human asset multiplier model

(D) Present value of future earnings
model

Which of the following refers to a
situation in which the merger of
companies results in over 25% of the
market in the hands of the merged
companies ?

(A) ‘Gateway’ condition

(B) Restrictive practice

(C) “Share of supply’ test

(D) ‘Asset’ test

Which of the following is true ?

(A) Systematic risk is diversifiable
but unsystematic risk is non-
diversifiable.

(B) Systematic risk is  non-
diversifiable but unsystematic
risk is diversifiable.

(C) Both systematic and
unsystematic risks are
diversifiable.

(D) Both systematic and
unsystematic risks are non-
diversifiable.
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5S.

IV' CAREERINDIA

Match the following :
List -1 List - IT
(Explanation) (Term)

(a) It involves using (1) Audit Trail
the version of Controls
master file and
the update
transactions used
to create the
current file to re-
create the current
master file if it
becomes
damaged.

(b) It involves
copying the
whole or a
portion of the
database to some
back up medium,
typically
magnetics tape.

(c) It stores current
and historical
data extracted
from various
operations
systems and
consolidates for
management
reporting and
analysis.

(d) It maintains the  (4) Data
chronology of warehouse
events that occur for
either to the Accounting
database
definition or the
database itself.

Codes :

(@ () (¢ (@
@ 3 O @ O
B 3 @O @ &
o @O 6 @ &
O @ 3 O @D

(2) Dumping

(3) Grandfather,
Father, Son
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51. fTrfafed & @ &9 @ 9, AS-3 &
I H ogR hd ks UeE %
forerzor & foviy & 9 HHTferee gt € 2

(A) 0T I gferel | g
(B) e I U3 WX UT HAT
(C) Yoo TS TRUEeH 68 Ve

Tershl shl T& Tkt AT GieT

(D)

52. 3O ICUATGRAT, HALHIIT, BATaRonaar
3 UfeRoT emar W R &= art
FEAR FH G fer e fHas an-
T T
(A) TREaar 99dqed Ared
(B) WS JREhR Jodich Hied]
(C) ¥ IR o Aigel
(D) TSl SUTSHT T SHH Jod Sl Hieel

53. frefataa 4 @ fea fefa 9 sota &
oo & woEEy dNR H 25%
foctfar srafat o el | 377 ST € 2
(A) WA 3R (I 9y Hf et
(B) WfdareTers wem
(C) 3gfd-3Ter udretor
(D) ‘uRHR e

54. feAfaiEad 9 @ 1 qF & 2

(A) =mEteE Sy =ued-E § R
AT SiEy ReTad-E € |
AR SifEs IR-ATaHE & )]
AN SGH SHTeaHE € |
ZaREd e YeFa eI SfEd it
AT & |
A e YegaId SiEH gt
AT € |

(B)

©)

(D)
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55.  Frefetfad = firem %
el - 1 Tt - 11
(zare) (%)

(a) T AR A HR (1) HifeT
FRA F O ® o
FEOT F WM " HIed
gty € S adde
AT Wige], Al famre
ﬂ%%,a%ngg%ﬁaﬂﬁ
% o oquH W
ga #=A " 3w
fopar ST & 1

(b) T YT T AT Ik (2) ST
TS 37T FI TR I
317 Hifeam ST Hrefes
w9 ¥ e 2 § h
F R F T § |

(c) T fata—=T e (3) I,
ToTferal | e foran wat
oA Ud Ufderas e O
I LI HT & 2
yare Raife ud
forvetoor & o wafera
FATE |

(d) TT TSI S FIATTHA (4) T@IHA
FHTIY @ ¢ S T F e
ar ey afeTeT 3 o7 e
W 2T B Hed €
L T

@@ (b)) (© (@

@ 3 @ @ O

® 3 1) @ @

e @O 3 O @

O @ 3 O D)
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S56.

57.

58.

59.

60.

61.

Which one is not a major component
of holistic marketing ?

(A) Relationship marketing

(B) Integrated marketing

(C) Internal marketing

(D) Socially responsible marketing

The final step in target marketing is
(A) Market Analysis

(B) Market Positioning

(C) Market Segmentation

(D) Market Targeting

The most recent consideration in
product packaging is

(A) Cost effectiveness

(B) Product protection

(C) Product promotion

(D) Economy

Distribution logistics (also termed as
‘market logistics’) does not include
(A) Distribution channel

(B) Inventory

(C) Transportation

(D) Warehouses

Most of the money spent in

measuring the effectiveness of

advertising is spent on

(A) Communication-response
research

(B) Pre-testing the advertisements

(C) Post-testing the advertisements

(D) Sales-response research

Which of the following is not
included in the model of the systems
approach to  human resource
management ?

(A) Departmentation

(B) Recruitment

(C) Performance Appraisal

(D) Promotion

Paper-111
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62.

63.

64.

65.

66.

67.

IV' CAREERINDIA

Which one of the following is not an
example of Herzberg’s hygiene
factors ?

(A) Advancement

(B) Interpersonal relations

(C) Job security

(D) Work conditions

Which of the following two forms of
collective bargaining were identified
by Chamberlain and Kuhn ?
(A) Integrative Bargaining
Distributive Bargaining
(B) Conjunctive Bargaining and
Cooperative Bargaining

and

(C) Integrative Bargaining and
Cooperative Bargaining
(D) Distributive Bargaining and

Conjunctive Bargaining

Who observed that a worker’s
behaviour and sentiments are closely
related ?

(A) Peter Drucker (B) Elton Mayo
(C©) F.W.Taylor (D) Dale Yoder

What is not an operative function of
HRM ?

(A) Procurement

(B) Development

(C) Organising

(D) Integration

The total number of Special
Economic Zones notified by the
Government of India till March 2011
under the SEZ Act, 2005 is

(A) 154 B) 184
(C) 286 (D) 386
The different forms of IMF

assistance are given below. Identify
the one which is mainly meant for
Less Developed Countries (LLDCs)
(A) Credit Tranche Drawing

(B) Extended Fund Facility

(C) Compensatory Financing

Facility
(D) Structural Adjustment Facility
J-08-14



56.

57.

58.

59.

60.

61.

AT feqUT T q&T Heesh T T € ?
(A) T faqoE

(B) ThIHT faquor

(C) TR Touue

(D) G &Y ¥ SIEET fauome

e faque | Afaq o ¥
(A) TR favermor
(B) <NIR fafeifd
(C) 9NR fo@ued
(D) TSR TAeeHIoT

I H UHTT ° HAGF BTl &
TT T ?

(A) ST WeTeRTerar
(B) 3cUIE LI
(C) 3R Fae
(D) ToceTar

faaqeor q=r (R oeR @ ot Fe
ST € 1) # fAfated § @ = |
Hitrferd el & 2
(A)  Toeror 99
(C) uRaed

(B) e
(D) HETIEH

OO & UqERieldar "o % ol
AtyeRer & fohe 9T @ fohar ST @ 2

(A) HYYUT - YTdTshaT I
(B) oot o1 qa-udtetor
(C) fosma=t b1 STR-URIeToT
(D) fesni-ufdfsean sy

e HHTE Yo o U d ST UEq |
fefaiad 5 9 o1 Qe 78l 2l & 2

(A) fourfieor (B)  wem

(C) ™uIEA qeaisA(D) TR
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62.

63.

64.

65.

66.

67.

IV' CAREERINDIA

T % WH-AFHE & Hh 1 30T
fAfafea 9 @ T @i & 2

(A) 3HMG

(B) 3FIoiedeh T
(C) = (i) Feam
(D) A i feafaat

Trfess Higarst & fefafad 57 w9 §
Y frgen! TEaH EReH Ud $g §RT Hf
T ot ?

(A) THfhd HigaTsT Ud faaRe diearsit
(B) HifiTeh QiSaTST Ud TEehRT Fgarsit
(C) THfeha TS U Teshrt Fisarsit
(D) ToeRes HiRarst ud FifiTes deemsit

Tg TR e R T FEI
RN 3N HEATT T ®F § Gri¥d € ?

(A) T g (B) UweH T
(C) ThHT=Y, oR (D) = AT

T, 3UH, 1 SRATRRI Tl i |1 el & 2
(A) o (B) fowra
(C) wWied &M (D) FHHA

TS affutEmE, 2005 % IR A
2011 T 9RT WEHR & R Aegfaa
fae a7férep ol ot PoT T ©
(A) 154 (B) 184

(C) 286 (D) 386

ST qET T I Tl & =1 T
I f53 @ & | FA fosfaa e & o
=T 9 9 BT 91 € 2

(A) wlsZ ZivT g
(B) TowaRa Aty giaen
(C) &IfdqRe feramoi e

(D) TEATCHSE THIIIST G
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68.

69.

70.

71.

In the context of globalization,

‘Levitt Thesis’ means

(A) Standardisation
respond to the worldwide
homogenised = market and
expand the market through
aggressive low pricing

strategy  to

(B) Customise products to regional
markets

(C) Customise products to meet the
national market

(D) None of the above

Which one of the following is an
internal hedging technique ?

(A) Leading

(B) Netting

(C) Both (A) and (B) above
(D) Swap

Business conglomerates have
different  names in different
countries. Which country’s
conglomerates are called ‘Chaebols’ ?
(A) Japan

(B) South Korea

(C) Germany

(D) China

Mr. X, a non-resident, earned
¥ 36,000 as interest on German
Development Bonds. Of this, he
received one-sixth in India. The

amount to be included as interest for
the computation of his Gross Total
Income is

(A) 336,000
(C) 36,000

(B) % 30,000
(D) Nil
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72.

73.

74.

75.

IV' CAREERINDIA

Consider the following problem
relating to a let-out house property :
Municipal value — ¥ 60,000

Fair rent — ¥ 68,000

Standard rent under the Rent Control
Act -3 62,000

Annual Rent received — ¥ 65,000

The Gross Annual Value of the

property will be
(A) 68,000 (B) 62,000
(C) R 65,000 (D) % 60,000

From the following, identify by the
web-based financial software :

(A) Private Equity Software

(B) Share Accounting Software

(C) Wealth Management Software
(D) WINGS 2013

Which of the following are true in

tax planning ?

(1)  Itis futuristic in its approach.

(i) It has limited scope compared

to tax management.

The benefits arising from it are

limited particularly in the short

run.

(iv) Its main objective is to reduce
the tax liability.

Codes :

(A) (1), (i) and (iii)

(B) (1) and (i1)

(C) () and (v)

(D) (i), (ii1) and (iv)

(i)

The benefits of debt financing over

equity financing are likely to be

highest in which of the following

situations ?

(A) High marginal tax rates and
low non-interest tax benefits

(B) Low marginal tax rates and low
non-interest tax benefits

(C) High marginal tax rates and
high non-interest tax benefits

(D) Low marginal tax rates and
high non-interest tax benefits.
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